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Unit 6:  More Graphing 

Graph each function.  Be sure to show all critical points and any asymptotes.   

1)  y = √𝑥 + 5  
 

Transformation(s): _________________________________________________________________________________________ 
 
Domain: ________________________________________   
 
Range: __________________________________________ 
 
Interval of increasing: _________________________ 
 
Interval of decreasing: ________________________    
 
𝑥-intercept(s): _________________________________ 
 
𝑦-intercept(s): _________________________________ 
 
End Behavior: 
 
 
 
 
 
 

2)  y = −√𝑥 − 1 + 4  
 

Transformation(s): _________________________________________________________________________________________ 
 
Domain: ________________________________________   
 
Range: __________________________________________ 
 
Interval of increasing: _________________________ 
 
Interval of decreasing: ________________________    
 
𝑥-intercept(s): _________________________________ 
 
𝑦-intercept(s): _________________________________ 
 
End Behavior: 
 
 

Key
practical (square Root )

shift left 5

[- 5 , OO)

[o , 00)

C- 5,00) •••#o#
N 1A

( - 5 , o)
( co , is)

L
.
E
. B .

DN E

R - E . B . X -700, y -700

• Reflect over x-axis
,
shift right 1,3 up

[ I , 00)
( -Oo

,
4]
N/A BA

•⑧#[I
, 00)

( 17
,
o)

none

R .
E . B . X-700 , f-CX) -7 -ooo = -TF t 4

- 4 = -ITE
IT

(45¥32
16 = X- I



 

3)  𝑓(𝑥) = 1
𝑥+3 − 2 

 
Transformation(s): _________________________________________________________________________________________ 
 
Domain: ________________________________________   
 
Range: __________________________________________ 
 
Interval of increasing: _________________________ 
 
Interval of decreasing: ________________________    
 
𝑥-intercept(s): _________________________________ 
 
𝑦-intercept(s): _________________________________ 
 
End Behavior: 
 
 
 
 
 
 
 
 

4) 𝑓(𝑥) = 4
𝑥−2 + 3 
 

Transformation(s): _________________________________________________________________________________________ 
 
Domain: ________________________________________   
 
Range: __________________________________________ 
 
Interval of increasing: _________________________ 
 
Interval of decreasing: ________________________    
 
𝑥-intercept(s): _________________________________ 
 
𝑦-intercept(s): _________________________________ 
 
End Behavior: 
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5)     𝑓(𝑥) = 2

𝑥−4 − 3 
 

Transformation(s): _________________________________________________________________________________________ 
 
Domain: ________________________________________   
 
Range: __________________________________________ 
 
Interval of increasing: _________________________ 
 
Interval of decreasing: ________________________    
 
𝑥-intercept(s): _________________________________ 
 
𝑦-intercept(s): _________________________________ 
 
End Behavior: 
 
 
 
 
 
 
 

6) 𝑓(𝑥) = − 1
2𝑥 

 
Transformation(s): _________________________________________________________________________________________ 
 
Domain: ________________________________________   
 
Range: __________________________________________ 
 
Interval of increasing: _________________________ 
 
Interval of decreasing: ________________________    
 
𝑥-intercept(s): _________________________________ 
 
𝑦-intercept(s): _________________________________ 
 
End Behavior: 
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7) 𝑓(𝑥) = 1
2

ඥ𝑥 + 3 − 1 
 

Transformation(s): _________________________________________________________________________________________ 
 
Domain: ________________________________________   
 
Range: __________________________________________ 
 
Interval of increasing: _________________________ 
 
Interval of decreasing: ________________________    
 
𝑥-intercept(s): _________________________________ 
 
𝑦-intercept(s): _________________________________ 
 
End Behavior: 
 
 
 
 
 
 
 
 
 
 

8) 𝑓(𝑥) = −2√𝑥 − 5 
 

Transformation(s): _________________________________________________________________________________________ 
 
Domain: ________________________________________   
 
Range: __________________________________________ 
 
Interval of increasing: _________________________ 
 
Interval of decreasing: ________________________    
 
𝑥-intercept(s): _________________________________ 
 
𝑦-intercept(s): _________________________________ 
 
End Behavior: 
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